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mmAq

BIC)C)
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P Alc
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Ho=557.20[mmH,0]

No.| [mm]|y [mm]|r [mm]] y/R | /R Juy/v Hy [MmH,0]| u [m/s]| U/Upax| UZU; | (Upax=U)/ U,
1 |14740 ]121.00 | 0.00 [1.000 ]0.000 j 1420 36.6 241 10996 | 24.6 0.101
2 14540 [19.00 [ 2.00 |0.905 |0.095 ] 1290 35.9 239 10986 |24.4 0.337
3 14340 (1700 [ 400 ]0.810 | 0.190 J 1150 34.7 235 10970 |24.0 0.748
4 14140 ]11500 | 6.00 |0.714 ]10.286 ] 1020 334 23.0 10951 1235 1.20
513940 [ 1300 [ 8.00 ]0.619 |0.381 ] 880 317 224 10927 | 229 181
6 13740 [ 1100 [10.00 10524 10476 ] 745 30.0 218 10902 | 223 243
7 13540 [ 9.00 [12.00 10.429 |0.571 ] 609 28.0 211 10871 |215 3.19
8 13340 [ 700 [14.00 10.333 |0.667 ) 474 25.8 20.2 10.836 | 20.7 4.05
9 13140 | 500 [16.00 |0.238 |0.762 | 339 23.3 19.2 [0.795 [19.6 5.08
1013040 | 400 ]17.00 ]0.190 J0.810 ] 271 22.7 19.0 10.784 1194 5.33
1112940 | 3.00 |18.00 ]0.143 ]10.857 ] 203 20.6 181 ]0.747 | 185 6.25
1212840 | 200 ]19.00 ]0.095 ]10.905 ] 135 185 171 10.708 | 175 7.22
1312740 | 1.00 ]20.00 [0.048 10952 | 67.7 14.9 154 10.635 [ 157 9.01
1412690 | 050 ] 2050 [0.024 10976 | 339 9.8 125 10515 |127 12.0
1514740 | 21.00 | 0.00 {1.000 |0.000 j 1420 36.9 242 11000 | 24.7 0.000
Hy, =299.95 [mmH:0]
Hqo =299.95 [mmH:0]
H, =71 [mmH:0]
u = \/R-M ~0.769 [mis]
4L pair
Ho=299.95[mmH,0]

No.| [mm]|y [mm]|r [mm]| y/R | r/R Juy/v Hy [mMmH,0] | u [m/s]| U/Upax | U/U; | (Upax-U)/ U,
1 ]4740 [21.00 | 0.00 |[1.000 |0.000 | 1120 20.7 181 [1.000 | 23.6 0.000
2 14540 ]119.00 | 2.00 ]10.905 ]0.095 | 1010 20.3 179 10990 | 233 0.229
314340 |1 17.00 | 400 ]0.810 ]10.190 | 904 19.7 177 10976 |23.0 0.576
4 14140 ] 1500 | 6.00 [0.714 10.286 | 798 19.0 174 10.958 | 22.6 0.989
513940 [13.00 | 800 |0.619 |0.381 ] 692 18.0 16.9 10.932 | 22.0 1.59
6 1 3740 ] 11.00 | 10.00 | 0.524 10.476 | 585 17.1 165 10909 (214 2.15
7 13540 | 900 [12.00 |0.429 |0.571 | 479 15.9 159 [0.876 | 20.7 291
8 13340 | 7.00 |14.00 10.333 ]10.667 | 372 14.6 152 10.840 |19.8 3.77
9 13140 | 5.00 |16.00 | 0.238 10.762 | 266 13.1 144 10.796 | 18.7 4.82
1013040 | 400 ]17.00 {0.190 |0.810 | 213 12.1 138 10.765 | 18.0 5.55
1112940 | 3.00 ]18.00 [0.143 ]10.857 1 160 11.2 133 10.736 | 17.3 6.23
121 28.40 | 2.00 |19.00 [0.095 [0.905 | 106 10.0 126 [ 0.695 | 16.4 7.19
131 27.40 | 1.00 ]20.00 [0.048 [0.952 | 53.2 7.9 112 [0.618 | 146 9.01
141 26.90 | 050 ]20.50 |0.024 10.976 | 26.6 4.8 8.7 0482 1113 12.2
1514740 | 21.00 | 0.00 |1.000 | 0.000 | 1120 20.6 18.1 10.998 | 235 0.057
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Hy =151.60 [mmHz0]
Hy, =151.60 [mmH:0]
H, =43 [mmH:0]

u = \/R.M=0.598 [m/s]

f 4L pair

No.| [mm]|y[mm]]|r[mm]| y/R r/R |uy/v Hy [mmH,0] [ u [m/s]| u/upa | U/Up | (Upax—u)/u,
114740 | 21.00 | 0.00 | 1.000 | 0.000 | 869 11.8 13.7 1.000 | 22.9 0.000
2 | 4540 [ 19.00 [ 200 [ 0.905 [ 0.095 | 787 11.0 13.2 0.965 | 221 0.789
3 ]4340 [ 17.00 [ 400 | 0.810 | 0.190 | 704 10.7 13.0 0.952 | 218 1.09
4 14140 | 1500 | 6.00 | 0.714 | 0.286 | 621 10.3 12.8 0934 | 214 1.50
513940 [ 1300 [ 800 [0.619 [ 0.381 | 538 9.8 125 0.911 | 20.8 2.03
6 | 3740 [ 11.00 [ 10.00 [ 0524 [ 0.476 | 455 9.3 12.1 0.888 | 20.3 2.57
7 13540 [ 9.00 [12.00 [ 0.429 [ 0571 | 373 8.8 11.8 0.864 | 19.7 3.12
8 ] 3340 [ 7.00 | 14.00 | 0.333 | 0.667 | 290 8.1 11.3 0.828 | 18.9 3.92
9 | 3140 [ 500 [16.00 [ 0.238 [ 0.762 | 207 7.3 10.8 0.787 | 18.0 4.88
101 3040 | 400 | 17.00 | 0.190 | 0.810 | 166 6.9 10.5 0.765 | 175 5.38
1112940 | 3.00 | 18.00 | 0.143 | 0.857 | 124 6.5 10.1 0.742 1 17.0 5.89
121 2840 | 2.00 | 19.00 | 0.095 | 0.905 | 82.8 5.7 9.5 0.695 | 15.9 6.97
1312740 | 1.00 | 20.00 | 0.048 | 0.952 | 414 4.7 8.6 0.631 | 144 8.43
141 2690 | 050 | 20,50 | 0.024 | 0.976 | 20.7 2.8 6.7 0487 | 111 11.7
151 4740 | 21.00 | 0.00 | 1.000 | 0.000 | 869 11.3 13.4 0.979 | 224 0.490
20.00 7 200 i
—— H=557.20 —e— H=557.20
—=&—  H=299.95 —=—  H=29995
H=151.60 H=151.60
15.00 15.0
'E 'E
% 10.00 / / % 100
/
5.00 5.0 //
0.00 : : : 0.0 re—"
0.0 5.0 10.0 15.0 20.0 25.0 0.0 02 04 06 08 1.0
u [m/s] U/ Upnax
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